Tan 7"7'01 2,20 2NoD .7"02

From where do we derive that he should not dye — »ax> X 191%

Overview

The Xn» 71 states that we derive X117 MO°X and 7Y°2% MO°X (dyeing) and MOX
P97 by 797y from the three 727y expressions in the 7wa9.! Our Mmoo
explains why it is necessary to have two extra 1727v words to teach us T0°X
P27 MO 7YX, once we know nRIT MOR. Seemingly n¥°ax and nphTa
should be included in the 7817 MOX.

MooIN asks:
— n‘pb‘rm Y2y MHONY TP0NN INAN ININA 9YONT 1‘) NPT 1973 99NRN ON)

And if you will say; since we derived from the word on%7y that 727V is
78172 o8 why is it necessary to have the additional words of 17y and
0°97y to prohibit dyeing and igniting. Dyeing and lighting are benefits; once we
know that 797¥ is X372 70K it is obvious that P27 7¥°2% with 777 is prohibited.

NDO0IN answers:

-NIYYA NN NIN 91 RYT INID DPUN XY NYAST THYT RPYOT PN 13529 99IN)
And the "% answered that one may have thought that dyeing is not
considered deriving a benefit from 7157y for it is merely an appearance.
There was no substantive change in the item that was dyed. Therefore one might have

thought that nothing was gained from the 7179y by dyeing something with 777y.
— “NOM NOYIN IPN (0w x,xp DY) ITNNA IINTD

as the X nx states in 217 P70 concerning the very same issue. Therefore
there is a special (\n?7Y) "12°1 to include 7¥°2% MOX.

mooIn continues to explain why a M2’ is necessary to forbid 7p27:1:
— 153 197 20T 1190 NOIYT TNYT XPYO NPYTN 199

And we may have also assumed that igniting 7157V is permitted since this
X317 is derived in the process of destroying it. This type of nxi1 may be

" The 7790 writes (33,2° [2°w17p] X7p*) that 2980 X% 29979 227 77 221w w9 119 DX NP7 an9 .

? The xaa there queries (concerning Nmn *3°7) if the value of the dye is considered to be in the dyed wool.
The X3 initially attempted to resolve it from a X012 concerning a garment which was dyed 777y 79°%p2
that it is to be burnt, proving that Xn?°» Xnn (a change in appearance is meaningful [monetarily]). The X7n3
there refuted this resolution for we can answer that by 177 the 770 forbids even a 0°°v% 78117 7837 (and
cites our Xn>>72 of 191 an?7¥ to prove his point). This indicates that elsewhere ¥n?n W% ®nrn and it would
generally not be considered a tangible 7X17. It is only because of the extra 0121 that we forbid dyeing.

* The mwn in 2,27 720 includes 797 in the 1797Ww1 (see 19 and 87 77W5 in w"R7;7 MooIN).
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permitted; therefore the 770 adds a 2™ (of 2°7v) that even a nX17 of 7p277 is also
forbidden.

mooIn anticipates a difficulty concerning 7p%7:7 M0°K:
— *npYTna DI8Y KUY NOA DIXY NAY PN VINT INNY

And according to the one who maintains that the value of the fire wood
is not transferred to the bread, and he permits deriving 7X17 from burning

the wood; why therefore do we maintain here that one is not permitted to derive benefit
from 77979 even while it is being burnt?!’

mooIn replies:
— 933 PHYTYI Y2 1N 1NV 139N NI RIP YONT XD

That which the 1o forbids burning here by 757y that is only concerning
burning oil which is intact and visible when it is burning in a lamp -

— ©9N)N 1 X2 NANYYN DIYN) NYY) DINY YaN
However firewood becomes coals first and the flame comes from the
coals, therefore we say n9a o°¥y maw PX and it is permitted; since no benefit is derived
directly from the m10°X *xy. The benefit is realized only after the Mo°X is destroyed and

changed into coals. However the benefit from lighting the oil is attained while the oil is
visible and unaltered.

nvoIn asks:
—9NNY RNV NNIIN 22) RIP TPIVYN NN 9NINN ON)

And if you will say; why, concerning 7R»u 72190, is a P02 necessary to

permit us to derive X317 from it when burning it -
— Sypomb NAD THION NINT TIOUAN DR APIDAY NAN 1OV 15 4w

* See the X310 on 72X 2,7. According to the 027 if one baked bread with 777y ¢y, the bread is permitted
to be eaten. See following footnote # 5.

> It seems from this question (and from the words 7p2772 2°8y *WwT') that MoOIN assumes that according to
the N2 0>y maw PR 7"7 one is permitted 77nN37 to use 0°xy of IXIT *NO*X for firewood. See X,72 2w MooIN
X7 7"7 (at the very end) that the only 7837 M0°X of 2°¥Y is to make it into a footstool (3,13 19p?); indicating
that burning it for fuel is permitted.

6 x,75 naw.

" The (m,m [7p] 1272) P09 reads "31 NN NIRwR DX T2 °NN3 7377 *3X. The word *nynn is plural, referring
to both 7737V 10 and AR»Y AN and (nevertheless) the 0o states 77, indicating that even aR»Y 77N is
7% (in a limited sense).

¥ If there were not an extra 109 to teach us 7277 MOX by 7199w we would assume that P77 is I (even
though 19y is 78372 710K), we should therefore also assume that IR»Y AN is P22 IMn (for P27 is
not part of 71X17 MO°X unless there is a special 109 to forbid it).
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For we interpret the word 7 to mean that (even) the X0 72170 should be
yours to ignite it under your cooked meal; why is this 109 necessary to
permit 71?9777, when here by 157 a o8 is necessary to forbid 1p>70.

N1B0IN answers:
139 DAY RY 25N97 NI¥aN N5 YORT YPN TUYNN 49937 TNYT RDYDT 1Y U
And one can say; that if not for the P09 of 9% which is 7R”Y 7N NN
7P?772, one may have thought that we should derive an 7P%77 MOX by
axno mmn from 3w wwn which is more lenient than 71N and
nevertheless it is forbidden to burn *1v “wyn as it is written,” ‘I did not
burn it’ -

£9919) 190 NN Y9N AUPN A1) (0w x,n3 naw) PP N1HA P93 ININTI
as the X n3 states in Ppo»T2 722 pas, ‘and what if by =wwyn», which is
lenient, the 77910 states, etc.

Summary
R17 MR does not necessarily include 7y°a¥ MR (for it is merely an

appearance) or 1p?77 MoK (for it is part of the destruction process). The
7P277 MOR is only by oil where the M0°X is ¥ however by firewood it may
be permitted (according to the N5 QXY [AW PR 7"N).

Thinking it over

moon explains that we need a PO to permit 7p?772 ARAY 721N for
otherwise we would have derived 77777 20°X from w"v». Why did not m501n
state that we would have derived the P57 M0°K from 79?12

? 3w qwyn is more lenient that 17N for 1IN is 012 AMOXR while w"yn is 2% M.

10 7,03 (Xan) o»127. The 100 reads Xnv2 wan N2 RY; referring (also) to 1w wyn.

"' The X3 there uses this 1"p to prove that one may not burn oil of X»u wps. The X n there asks that by
the same 1"p one should not be permitted to burn nX»v 77N 2w MW and the XM cites a VWn to exclude
XY 70 from this 1"p. This explains why a 2109 is needed to permit 7p2772 XMV TN,

12 See DWW 127
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